MIAM l-DADE’ MIAMI-DADE COUNTY, FLORIDA
[ ] METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Therma-Tru Corporation
108 Mutzfeld Rd.
Butler, IN 46721

ScoPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Premium Series 6’8 Opaque Steel Door w & wo sidelites (0S)

APPROVAL DOCUMENT: Drawing No. S-2149, titled “’Premium Series” 6-8 Single & Double Out-swing
Steel Door”, sheets 1 through 8, prepared by RW Building Consultants, Inc., dated 3/28/02, bearing the Miami-
Dade County Product Control Approval stamp with the Notice of Acceptance number and approval date by the
Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact and Non-Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

The submitted documentation was reviewed by Raul Rodriguez

NOA No 01-0828.08

Expiration Date: June 20,2007
Approval Date: June 20, 2002
Page 1




@ 105.5" MAX. OVERALL FRAME WIDTH ————— __OVJE;-:JL"L M»%TH"*
THERMA-TRU ) 36.625" MAX. PANEL, 36" MAX. B MAX
15.5" MAX. “WIDTH W/ASTRAGAL PANEL WIDTH ~— '
*PREMIUM SERIES" OUTSWING 6-8 SINGLE AND DOUBLE FRAME WIDTH > PANE'Z] WIDTH
W/& W/OUT SIDELITES. INSULATED STEEL DOOR WITH WOOD FRAMES. 13.75" MAX. g LT
SIDELITE WIDTH | 1 @ T @
1 @ £ Djl E’: Q‘@ |
- GENERAL_NOTES N & 71257 wax. | Sz koY ®
1. THIS PRODUCT IS DESIGNED TO MEET THE SOUTH FLORIDA ¢ D.L.O. WIDTH lf & E . < a0
BUILDING CODE 1994 EDITION FOR MIAMI—DADE COUNTY. W ¢ w s B
2, WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY ) 3 o X JDxom
TO TRANSFER LOADS TO THE STRUCTURE. S| x 2 o=y N
3. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS = L ¢ = o~
SHOWN ON DETAILS. ANCHOR EMBEDMENT TO BASE MATERIAL ) S e Yh) @
SHALL BE BEYOND WALL DRESSING OR STUCCO. % |g oHHE 28 i~ o TUE
4, DESIGNED PRESSURE RATING SEE TABLE PAGE 1. = v 3N 8 Q 0]
5. MIAMI-DADE APPROVED IMPACT RESISTANT SHUTERS v @ 37 .. :<:'
ARE REQUIRED FORE SIDELITES ONLY. N } S =
6. SIDELIES ARE AN OPTION AND CAN BE USED IN A » = ' .
SINGLE OR DOUBLE CONFIGURATION. © ¥ h N olo S) 0
7. LOW PROFILE QUTSWING BUMP THRESHOLD RATED FOR ‘ o 2 wﬂg z{{)
q +55.0 PSF & —55.0 PSF ON WATER FOR SINGLEUNITS. ' © @ | P
K J/ l Lgaw 5 %2
= et e
U D (3)  SINGLE OUTSWING UNT T - e
1 INSULATED STEEL DOOR, . " ) " W9 <
f (Common to all frame conditions) j \ 74.5 MAX. OVERALL FRAME WIDTH. L 6857 MAX .. gé% < OB
, tion: 36.625" MAX. PANEL 36" MAX. OVERALL WIDTH o5 uax 5|22 DE%
- B . . =
. 24 GA.(0.022")minimum thickness, WIDTH W/ASTRAGAL PANEL WIDTH ‘___ 36" MAX. FRAME WIDTH ép_ 8"2
Galvanized steel A—525 commercial quality — AKDQ < PANEQ] WIDTH D " o o
per ASTM 620 with yield strength'Fy?mm.jf=38,438 psi 13.75" MAX. -
Core design: Polyurethane foam core, WIDTH gm
with1.9 Ibs. density by BASF. E t
QSQ[ Eg?g! Qggj;gt[gction; Flush or embossed type. The vertical £ e "
edges of the skin, rolled formed to provide a” mechanical o | 7.1257 MAX. &= z
interlock with finger jointed pine stiles. Wood end rails are butt jointed e D.L.O. WIDTH © &5
and pressure fitfed with contact cement to the wood stiles at the ‘corners. T W o
Sf?ﬁh’tﬁ ?gﬁgi Q‘gnstmgtig?’ gn? Glazf'g?; The vertical ) ¥ 4 7 o 19
edges © e skin are rolled formed 1o provide a mechanical < % S 2 o
interlock with finger jointed f;ine stiles. Wood end rails are &= J & |a
butt jointed to the wood stiles at the corners. The sidelite . o o a o
panels are sandwich glazed using a two piece lite frame. /?\5 % e 3§ o I (14
Frame %gngjcugt{gni The frame is constructed from finger (2N Q
jointed Ponderosa Pine measuring 4.656" wide x .25 thick. Wil v ‘lg—v V&Y & e’ vV = &
The header, is joined to the side jambs_with (3) 16ga. 1/2" S _ @ 3N : S
crown x 2" lorig staples at each ‘side. The threshold is joined .= Q \3/ 0 K<
to the side jambs with (2) 16ga. 1/2" crown x 2.5" long = = - e
staples at each side. The mullions grg secured together in a = e o)
sidelite application using #8 x 2 1/2" long PFH Wood Screws . 0 © 3
6) screws ﬁer each mullion. The unit uses an Outswing s} ‘; # i -5
kumpfcce threshold, either Low Profile or High Water Dam. /) SN y
' l 1 A %Wsumowc
CONSULTANTS, INC
TABLE OF CONTENTS 813.684.3831
DOUBLE OUTSWING UNIT % SINGLE W/SIDELITES OUTSWING UNIT % @
SHEET # DESCRIPTION oare: 08/08/01
1 TYPICAL ELEVATIONS & GENERAL NOTES DESIGN PRESSURE RATING - - 08/08/
2 VERTICAL CROSS SECTIONS -glvvf’gvegu*;;;fgmggggm e Isae:  N.T.S.
! orica
3 HORIZONTAL CROSS SECTIONS UNIT TYPE W/LOW PROFILE BUMP THRESHOLD | W/HIGH DAM BUMP THRESHOLD Date Ju, 56, 2001 WG, BY: TJH
4 HORIZONTAL CROSS SECTIONS & NOTES . SINGLE + 550 PSF — 67.0 PSF |+ 75.0 PSF ~ 75.0 PSF ey m"p" L oK. B RW
> ANCHORING LOCATIONS & DETAILS DOUBLE NOT APPROVED FOR WATER [+ 65.0 PSF - 65.0 PSF Division, W DRAWING NO.:
6 ANCHORING LOCATIONS & GLAZING DETAILS : : By - 5—2149
7 UNIT COMPONENTS SINGLE W/SIDELITES |+ 55.0 PSF - 67.0 PSF |+ 65.0 PSF - 65.0 PSF ST
8 BILL OF MATERIALS & UNIT COMPONENTS DOUBLE W/SIDELITES | NOT APPROVED FOR WATER |+ 65.0 PSF - 65.0 PSF SHEET _1_OF 8




Lo “-1 ‘.4_. ,4 K v ' o . ) .. . T, S )b - 4 e 4 R o i
. : & . Lo, » o s s BTy b ) 4 -G a0, o
- .o - da ‘_4,. ‘ : . NS :. . v R 4 P a4a . 4 —
, . : « . [y Dy . . . P a. B : .
'REFER TO SHT 5 REFER TO SHT 5 @ @: N 0
& 6 FOR SCREW _ & 6 FOR SCREW REFER TO SHT 5- 2 QO |
TYPE & LOCATION TYPE & LOCATIOM \ & 6 FOR SCREW - T Sv o
TYPE & LOCATION o b ©
I » | L Zao
29 — SN
L /A N / T e
% 8 = " ’ )
< 3 & LATEX CAULK > Q _— 05
20 1 “m g USED TO SEAL g i @
hE o s 3 FROM ELEMENTS| |. @ | :::\i ;:] =
NI 532 A R Zy 0. Hrn
o 0.0 g X2 Q ; “ 2E PRE
G oo i : 1.68" MIN. = N & D
' o g 2@ % PANEL THK. & ~Q o 0.0 g N
) | o S g ) B 1% e D g | L
0 004 N SEE NOTE = 3 <O G G oual v
R RS w ¥ 1 SHT. 4 b 2 " 0" g W 1 @ %)
ZAR S : Z U 1.68" MIN. __| .S 5| I 23 Lu
£0-.6 . 7" g @ . PANEL THK. |0 ¢, o zalls) OZ
.: & . - = gl =z U'Hd‘n o L=
2 e 3 | @ 3§ e S | zug3 88
W o O Q%O GLASS THK. S 2 0285 3 |8|u§,1% =
£ gy N S5 S % & e DR L
W 1 68" MIN ot oY o3 @ EXTERIOR INTERIOR 2 32 SPT Q| 9l
. ¢ . O "o-_-_ 2 . ; )
& PANEL THK. [0 =~ - &7, o 9 i | D00 R e
y N : 5 3 8 b e
- - % .- S
o o .o L. = & E
pl 5 o N Z2 A =l
T | O @0 R =0 K 2 B
H '., '..0 L)E . ‘o. . " ' LCDJ W
% o NS @ Y < I
pd '3 A
o = 3] o
o =g | S
5 Q. o T R
2 g T—W S
i " @\ )
: M Q
3 \\ //i/:/‘/ =
= —— , R VERTICAL CROSS SECTION '% BUILDING
) S C T gy DOOR PANEL W/ HIGH DAM THRESHOLD  [||GONSULTANTS, INC
SRR : : Lo © qv v 813.684.3831
o4 - w ’ R | N . a -
, N . N ' . - N
] ><' Q. _< bl - - : < e, ‘ ] '4_ ‘ < 4 B ) o DATE: 08/98/01 _
. . § . .i‘_ T A 4 - . - 'y Approved as complying with the SCALE:1/ 2" =1
. R ) )P . ;;Eotrida Buiding%ode 1 DWG. BY: TJH
NgeA# - . CHK. BY: RW
m VERTICAL CROSS SECTION /2\ VERTICAL CROSS SECTION Miami Dade P uct C y ORAWING NO.:
\2_/ DOOR PANEL W/ LOW PROFILE \2_/ SIDELITE PANEL Divis { S—2149
BUMP THRESHOLD y e
sweer 2 oF _8




ASTRAGAL RETAINER

THERMAOTRU®
108 MUTZFELD Rd.

BUTLER, IN 46721
PH. (219) 868—5811

HORIZONTAL
CROSS SECTIONS

SINGLE & DOUBLE
QUT—SWING STEEL DOOR

"PREMIUM SERIES™ 6—-8
PART OR ASSEMBLY:

PRODUCT:

IN
BY

GENERAL REVISION

REVISIONS

3/28/02
DATE

1
NO ]

j L)’ BUILDING

CONSULTANTS, INC
813.684.3831

- EXTERIOR
z3 BOLT 8.0 LG. TOP zZ¥
=" & BOTTOM (2) BOLTS SF
w @ AT TOP & (2) AT BOTTOM o
“J.<2( 0z
—-a -
t s 2 1
e o fer e T\ \\/r’ \/ o e . &
. . [ o - . h 3 £
ST e g o el T
= o "q:' . ) .. \ Coe L 0 o - \ .
INACTIVE ! \ / P acmve
SEE NOTE 2 (38) (6)
SHT. 4
8Y 7
@ INTERIOR
zZX SEE NOTE
é ) HORIZONTAL CROSS SECTION SF 7 SHT. 4
©® ASTRAGAL wd 9 @
@z
- NOTE 5
EXTERIOR *CL @\ gfﬁ ) TE
" \ . . B A
1.15 M’N _8 ..?«o' "oa o a ° & . o ‘.a. K / N . }é
EMB. .. %00 e e, g Z£T
%. ' ' "'.' 'O"' . .6.-. . ' ‘o .a . E = 34
= e é' "--—.,c tr q .. '_ - 'c, -
T — r'.zs" MAX. SHIM o ' 8z 33
I f o 15" MIN. ~a
Wy C-SINK MEELQB }
T SEE NOTE 5 o .
. SHT. 4 34 0;-‘?.00.:----00':0 P
Cowe : - A .o o 1
e 33 00 g 520 ?
@/J7 c | EXTERIOR 3 ¥
T T e e ZE
L o 0/0 2 °0- ﬂ | SEE NOTE 6 =,
v Z .7 Te — SHT. 4 :
< o, 0T < 29Y 41 REIN
. .8 90 0 = R} 3
L LRl b SEE NOTE 1
< 28 INTERIOR 4 ¥ SHT. 4
S X s /2\ HORIZONTAL CROSS SECTION
Ta (39) $E 0% G/ @ HINGE JAMB TO SIDELITE
o v 29 41 5
s ©Z SEE NOTE 1
@ TaQ  SHT. 4

/3 HORIZONTAL CROSS SECTION

\3_/ @ SIDELITE TO BUCK

Appreved as complying with the
Florida Buiding Code

Date__Junrt 200l

NOAm

Miami Dade Progact Con i

Division ki

By . )
%4

owE: 08,/08,/01

5(‘ALEZ1/2” = 1u

DWG. BY: TJH

CHK. BY: RwW

DRAWING NO.:
S—2149

sieer 3 o _ 8




25" MAX.
SHIM SPAC

A

1.68" MIN.

PANEL THK.

Q. -

\ -

' 'qq a
) (8)__ntERIOR

@ v ,l__.15" MIN.

C-SINK

v 1.15" MIN.

////

®

2\ HOR

\4_/ HINGE JAMB TO BUCK,

m HORIZONTAL CROSS SECTION

' EMBED. 4/

NOTES:

1. SPACING FOR ITEM #29 & #41 (LITE FRAME SCREWS)

IS AS FOLLOWS: FROM THE TOP DOWN ON SIDES; 3",
14.75" 26.5" 38.25" 50.5" & 62.25". THERE IS (1)
SCREW BOTH TOP AND BOTTOM AT 4.25" IN FROM
CORNER. |

2. SPACING FOR ITEM #27 #8 x 1" PANHEAD SCREW
ATTACHING THE ASTRAGAL TO THE INACTIVE DOOR IS AS
FOLLOWS: FROM THE BOTTOM UP AND TOP DOWN 17, 3"
5" 26" AND (1) MORE 6" UP FROM THE STRIKE
LOCATION.

3. THE HEAD JAMB IS ATTACHED TO THE SIDE JAMBS WITH
(3) 16GA. x 1/2" CROWN x 2" STAPLES AT BOTH SIDE.

4, THE THRESHOLD IS ATTACHED TO THE SIDE JAMBS WITH
(2) 16GA. x 1/2" CROWN x 2.5" STAPLES AT BOTH SIDE.

5. THE SIDELITE IS DIRECT SET INTO THE JAMB WITH ITEM #12
#10 x 2” PH.F.H. WOOD SCREW AT 6" DOWN FROM EACH
COJSPENER AND A MAX. OF 12" 0.C. ON THE SIDE JAMBS

Y.

6. SPACING FOR ITEM #13, A #8 x 2 1/2" SCREW SECURING
THE MULLIONS TOGETHER IS THE SAME AS THE PERIMETER
ANCHORING SCREWS. 6" DOWN FROM THE TOP AND UP

. FROM THE BOTTOM WITH (4) MORE SPACED AT 13.7" O.C.

7. WHEN ATTACHING THE HINGE TO THE JAMB AND THE BUCK
USE ITEM #12 A #10 x 2" SCREW. WHEN ATTACHING THE
HINGE TO THE JAMB AND THE SIDELITE AT THE MULLION
USE ITEM #37 A #10 x 1 3/4" SCREW.

8. ITEM #39, THE HIGH DAM THRESHOLD IS ONLY USED IN AN
APPLICATION WHERE A HIGHER WATER PRESSURE MUST BE
ACHIEVED.

25

LATCH JAMB TQ BUCK,:

SEE NOTE 5

34
33

1.68" MIN.

EXTERIO

25" MAX.
SHIM SPACE

SEE NOTE
7 SHT. 4

-2 )
R

1.68" MIN.

PANEL THK.

ONTA RO

SEE NOTE
SHT. 5

SHT. 4

- (19)
N %

5

Qi
.15" MIN. __| L_

C~—SINK

1.15" MIN.

EMBED.

| [ 1

®

1.68" MIN.

PANEL THK.

2
N

2

2|7 PANEL THK.

2o

:.ﬂ '6: K

T
it

.5" MIN.
GLASS THK.

I

Q
OQ;’

SEE NOTE 1
SHT. 4

% s N
o/
41129 @

L

a

&U

INTERIOR

o

A

SEE NOTE 6
SHT. 4

73\ HORIZONTAL CROSS SECTION

\4_/ ® STRIKE JAMB TO SIDELITE

IN 46721

THERMAO TRU®
108 MUTZFELD Rd.
PH. (219) 868-5811

BUTLER,

SINGLE & DOUBLE
QUT—SWING STEEL DOOR
HORIZONTAL CROSS
SECTIONS & NOTES

"PREMIUM SERIES™ 6-8
PART OR ASSEMBLY:

PRODUCT:

WLN

GENERAL REVISION
REVISIONS

3/28/02

1
NO

5 a BUILDING

CONSULTANTS, INC
813.684.3831

Approved as complying with the
Florida Buiding Code

Date 0, 10l
NOA#

.0
Miami Dad/e‘lyct Centrol
Divisio
By”)l ! /0‘)’

oate: 08,/08/01

seae:1/2" = 1"
owG. BY:  TJH

CHK. BY: RW

DRAWING NO.:
S-21489

sieer 4 oF 8




/SEE DETAIL "F" SHT. 5
[« o] | AN N CECE|
{ J e . A _J . T ] |
6"_"‘ . 6""‘-‘ | ] -4-6"
3!1_— Ll 3!1_— Ll e *3“
_‘1—\ 6" 6" 6" |
3" ” 1 " "
e Rt H 3¢ 3 -3
| t\lw; 1 I T N
— i i —
C) E 42 \&.49 TYP. ;ﬁ' @2
SEE NOTE TYP SEE DETAIL
3 SHT. 4 - Il SEE NOTE "F" SHT. 5 1 iy
/‘ 6 SHT. 4 @
TP SEE DETAIL
f b3 o TP
@ r - ”G" SHT. 5 6 SHT. 4 ” < TYP. <
TYP. i £
SEE SDEA’E SEE NOTE
' A 4 SHT. 4
-.'_—"A" I'A"—-—&'
o k Az
v, |- .k 3 4
N il irve Ay TPy 11
s T € ¢ 4 -
6 6, 6"
3"—.‘ o 3" n e
6""’—' e 6 ] ~_5
_~SEE DETAIL "H" SHT. 5
- s - b
—— E T |
N/

DQUBLE DOOR W/SIDELITES

(1367

SEE NOTE
ABOVE

SEE NOTE
ABOVE

DETA” ME”

DRILL THRU FOR

A 2.357" BOLT DEEP
ENOUGH FOR A 2"
BOLT THROW

T~ )

DEA“ ”!!"
ASTRAGAL THROW BOLTS
AT THE THRESHOLD

‘-— 29.25"

"B,—'——’

DETAIL "F"
ATTACH ASTRAGAL THROW BOLT
STRIKE PLATE TO FRAME
AS SHOWN.

R %
[e)]
i
mt (||
’R R
: ol
& =2
> 5
=0
tH .
N Q
go

[
1

| |6

39.375" —"
- —7|

5.5"

NOTE:

WHEN ATTACHING THE STRIKE & DEADBOLT
PLATES TO THE STRIKE JAMB AND BUCK USE

A #10 x 2" SCREW.

WHEN ATTACHING THE STRIKE

& DEADBOLT PLATES TO THE ASTRAGAL USE
A #8 x 2 1/2' SCREW. WHEN ATTACHING THE

STRIKE & DEADBOLT PLATES TO THE STRIKE JAMB AND
SIDELITE JAMB USE A #10 x 1 3/4" SCREW.

= = .
. N
© n 6" SEE NOTE o
s AT St T
ve.  Ei ?E T
- - - d1 o
- N
L s AN @
-2 TYP. ¥ A
12X - - Z2Z gh
A =Q A =& g
=0 - — =0
TS Cs 20 (i
t ~ 3 - . Rp= N
W: - - - - / n
SEE DETAIL DL SEE DETAIL _/] o
"c" SHT. 5 @ "E" SHT. 5 N
- - TYP.
R llc e .Cn TYP. _ ,,D,:—.. l
4 5 '
' Y. = -
- =2 ral

== ¢ e !

IN 46721

THERMAO TRU®
108 MUTZFELD Rd.
PH. (219) 868—5811

BUTLER,

o
T 9 ¢
QA )
: & E
&Dd oﬂ
~-CJLJ.J>'_' o=
ALl I<
g3 @
[&] g ZQ
e IRE- L I
B SQ0| | T
9 EZI 8| O
nN= s
a
ald SE <
& <
a a
>
Z\mn
=

GENERAL REVISION
REVISIONS

3/28/02
DATE

NOJ

1

R

SEE NOTE BUILDING
= 4 SHT. 4 CONSULTANTS, INC
: — 813.684.3831

SINGLE DOOR

' : oate: 08,/08/01
Approved a8 complyingwiththe  |scAE:  N.T.S.
Florida BmdlugCode WG, BY: TUH
Date
NOA# ol' CHK. BY: RW
Miami Dade | % DRAWING NO.:
“’“571 S—2149

seer 5 oF _8




DOUBLE DOOR

~  |~.453" GLASS BITE | N
1 | ] | ]
33 —
3" - - S I 1
XIERIOR 1/8" TEMPERED 6", , 6 : -
40 GLASS " - = 6 6" ——{ [€e) -D — -
& [ 3 F 455 ~ -3 | | e =%
¢ %0 T T T | 2ok,
AN e Il T 1 T 3% g
RIS B PR v 25" AR A 3 e T W_ ©
DN B I SPACE : e T Lzw
2o % el , SEE_NOTE _|} EE NOT : s N
Ll A ! N 3 SHT. 4 SEE NOTE Q. T S
AN " Z T |_1/8" ANNEALED o - . Mmoo o 9 — | USug-
@ 2 ¥ 25" STEEL § diass 2 @ L =y
INTERIOR = INTERCEPT [ @2 ~ = 03*5\'
o W ’ — b — U ~—
<z 29 Q LT = X
4 ! 4 o
— & SEE NOTE 1 = T ( = Zo
SHT. 4 Z : F g 32
] - - :: — r '%
5" INSULATED GLASS W/ . 7 % g
PVC LITE_FRAME GLAZING DETAIL o w SEE DETAIL N @ x«
—"E” SHT. 5 o nal T8 2,
SEE DETAIL _/ - @) I Mol Pyl S
"G ! SHT‘ 5 T ”K " 0y o8 non l(/)m = E <
SEE DETALL g [ll— "k TYP. M ] o Sk
{"F' SHT. 5 @\ (9re. FL ' R
| [ 1 e, M- ; /\._ . : Wnla o
L’ : : ‘\v) : : L—.l‘ h!‘l ' \{ ] l , l l l l 10, l [ \ " "M "_-—é io %:(ZD % §§
6" — |- 6"~ |- —~ 6" _SEE NOTE 3"~ L‘j'4 3 % 3 H‘__ \ o 51328 2
w_ | B w11 i I 2 ” " = Q
o3 3 ” 3 3SHT. 4 g 6 T 6 |\ }—3" \_See NOTE 3895 2
o j 63" _ o [eu  Bamb i A nag 4 SHT. 4 S
- 1 g = q := _t [ : =] TYP. &
) T 1 ] 1!1\ —E = e
=
me. SEE DETAIL . 463" GLASS BITE S
~ FYSHT. 5 it
2 o ®) /~SEE DETAIL o EXTERIOR 1,/8" TEMPERED 2 2
~Z YP. "E* SHT. 5 N GLASS % S
9 _ 'SEE DETAIL TYP. 7 R S ==
EJ g % L "G" SHT. 5 }'— " 00 0 ! { Lé," g
; =0 E _ . £ 25" AR
= \EE BREAPRY R == SPACE o
38 - @™ iR o5 -
SEE DETAIL _ | N 0 25" STEEL RE
"H" SHT. 5 o R Y INTERCEPT 2 & 1/8" ANNEALED )
Ly — T " N INTERIOR 23 SPACER =, GLASS ~
. ~— v © =F SEE_NOTE 1 0w ¢ —|z
: o SHT. -
23 o : & 32 )

. = ! @ :_(J . - BUILDING
L_ LI mfp Ay TYPy 5" INSULATED GLASS W CONSULTANTS, INC
" — : el BIS LITE FRAME GLAZING DETAIL 813.684.3831

3" —— % " i i ‘% ..}\\
6 o

— 6"t— 3" ;}5" . SEE NOTE oae: 08/08/01

6 4 SHT. 4 Approved as complying with the seak:  N.T.S.

E = = Florida Buiding Code owe. Bv:  TJH

{ . = D'"’_T_,‘t%‘_z’f_?ﬁ% ow. o RW

0 « H
\/\—SEE DETAIL "H” SHT. 5 M.mfimdel’rod ct% DRAWING NO.:
g'y“m“ S-2149

sieer 6 oF 8




4.656"

#1.25'4‘

-~ 711" —

@

598"

477

a

@ WOOD_FRAME
FINGER JOINTED PONDEROSA PINE

"—— 2.203" ———=

[ 528"

t 7 e

LOW PROFILE OUTSWING BUMP FACE

4.625"

1

0.309" —

(9

0

.050" WALL TYP.

O
_ N

o O

2.040"
o

~—.097"

®

4 x 4 STEEL DOOR HINGE

N
\\\\\\\\\\\\\\\§‘l

\{{\{m\m\m-

PLASTIC LIP LITE FRAME
EXTRUDED PVC

1 1 ]

| I

AT

TCP_RAIL

———

l——.0884 ——l

FINGER JOINTED PONDEROSA PINE

l—o— 1,662 " ——— .g
— .635" I—— }
s N oo
T Ty
® !
BOTTOM RAIL, WQOD COMPOSITE

NCTE

ALL DIMENSIONS ARE MINIMUM.
DIMENSIONS ARE THE LARGEST TESTED.

Z |

1.365" "‘\

T (9

FINGER JOINTED PONDEROSA PINE

®

-~ 1.66" ——

—— 2.432"
f—1.775" —
AL
TV VTV 2

526"

BTS PLASTIC LIP LITE FRAME

WOOD LATCH SIDE STILE

Z

EXTRUDED BTS

1.878"——‘1

4.602 MIN.
2.36"
>
Q
M
S
HIGH DAM_THRESHOLD
MIN. WALL THK. = 0.050"

SEE NOTE 8 SHT. 4

0T
@ ax N
N 0
mQ¢
N
[ N T4
I N7
T Do
b =82
E ol
D)
@
Q.
[0 el
P S
‘ng %
s & 5
=
Qs O
V]qa b3 =
olal
> IWE= 17

.gdgﬂ -

sluzTly 2

3| s 2

I ] |-

glF ol%

a. [a
z|%
=z
Q
s
& |
4 6
2 |2
P
g |2
S
S
NNlat
™M

o
—lZ

RY/ aonome

CONSULTANTS, INC

813.684.3831
oaTe: 08,/08/01
Approved as complylng with the sae:  N.T.S
Florida Buiding Code owe. By:  TJH
Date_ VAL 29, 300%
NOA#___O\ “25 Z’Sﬁﬁ CHK. BY: RW
Miami Dade Prod Contiod DRAWING NO.:
g’;“s“’“ / 5-2149
2 — sHEer _7 oF _8_




.592"

L

.928" —

-

L f
1.281" ——f

-‘J 1797

R SSION STRI
FOAM CELL CORE W/VINYL JACKET

2.25%

O
SN

ltem DESCRIPTION Materigl
1 | DOOR SKIN: PREMIUM SERIES 24GA. (022" MIN.) STEEL
2 |T0P RAIL (1.628" x .851" THERMA—TRU PONDEROSA PFINE) WOOD
3 | TATCH STILE (THERMA-TRU, PONDERCSA PINE 1.66" x 1.2537) WOooD
4 |HINGE STILE (THERMA-TRU, PONDEROSA PINE 1.625™ x 1.257) WOOoD
5 | BOTTOM RAIL (1.662" x 0.892" THERMA-TRU WOOD COMPOSITEY WOOD COMPOSITE
6 | POLYURETHANE FOAM (BASF, 1.Glbs. DENSITY) FOAM
7 | SHORT REACH COMPRESSION WEATHERSTRIP (THREMA-TRU)| FOAM
8 |LONG REACH COMPRESSION WEATHERSTRIP (THREMA-TRU) FOAM
9 [4" x 4" HINGE .097" THK. (THERMA—TRU) STEEL
10 | #10 x 3/4" Iq. PFH WOOD SCREW (Hinge to Frame) STEEL
11 [#10 x 1" LG. PFH WOOD SCREW STEEL
12 |#10 x 2" LG. PFH WOOD SCREW STEEL
13 [#8 x 2 1/2" LG. PFH WOOD SCREW STEEL
14 13/16" TAPCON ANCHOR (ELCO, 1.75" MIN. LG.] STEEL
15 |NOTE USED
16 | 2x WoOD BUCK WooD
17 | MAX. 1/4" SHIM MATERIAL WOOoD
18 | KWIKSET TITAN 700 SERIES PASSAGE LOCK —
19 | ONE PIECE BUMP FACE THRESHOLD LOW PROFILE (THERMA-TRU) |ALUM./WOOD
20 |4.656" HEADER (THERMA—TRU, PONDEROSA PINE) wooD
21 |4.656”" STRIKE JAMB (THERMA—TRU, PONDEROSA PINE) WwooD
22 14.656" HINGE JAMB (THERMA—TRU, PONDEROSA PINE) WwooD
23 | KWIKSET TITAN 700 SERIES DEADBOLT -
24 | ASTRAGAL WINDJAMBER Il WR68T (.052" WALL) ALUM.
25 |GLAZING, 1/2" INSULATED TEMPERED GLASS GLASS
26 |3/4" THK. PRESSURE TREATED SIDELITE PAD WwOooD
27 [#8 x 17 LG. PANHEAD SHEET METAL SCREW STEEL
28 | NOT USED -
29 |#6-18 x 1 3/4" PHILLIPS FLATHEAD SCREW (FOR MEM §33) | STEEL
30 |NOT USED -
31 13/16" TAPCON ANCHOR (ELCO, 3.25" MIN. LG.) STEEL
32 | 1/8 THK. CELLULAR GLAZING TAPE (STIK-Il TAPE) —
33 | PLASTIC LIP LITE FRAME (PVC, THERMA-TRU) PVC
34 |PLASTIC LIP LITE FRAME (BTS, THERMA-TRU) BIS
35 |4.656" BILANK JAMB (THERMA—TRU, PONDEROSA PINE) WOoQoD
36 | SIDELTE SIDE STILE (THERMA-TRU, 1.625° x .719" PONDEROSA PINE)  WOOD
37 [#10 x 1 3/4" LG. PFH WOOD SCREW STEEL
38 |LOCK BLOCK 2.625" x 10.375” x 1.625" THK. | WOOD
39 | HIGH WATER DAM THRESHOLD (THERMA—TRU) ALUM.
40 | SILICONE CAULK SILICONE
41 | #8-10 x 1 1/2" PLASCREW (FOR ITEM #34) STEEL
42 1410 x 3" LG. PFH_WO0D SCREW STEEL

} 9.5” {
i

( A 1D
!
ASTRAGAL RETAINER BOLT B
M

MATERIAL: C/R ROD ZINC
& YELLOW CHROMATE

DRILL TRU FOR A #8
PFH WOOD SCREW 2PLCS

DRILL TRU FOR
357" DIA. ASTRAGAL
RETAINER BOLTS

WINDJAMBER Il WRE8T STRIKE PLATE

j@

@ 175" L

co SION_W P
BY THERMA-TRU
FOAM CELL CORE W/VINYL JACKET

1" / RETAINER BOLT
SN

=),

¢,

1.9"
RSAVNR
Sty

&

2D

2.785
S
R

N

4
7

SN\

LSS NNXT
4

WINDJAMBER Il WRE8T
ASTRAGAL (ALUMINUM .052" WALL TYP.)

RN
o N 0Q
@: EL?
Q
EdY¥o
mLL.ZC[)
SN
P__ '/‘\
T Jxo
W S0 —
I o
2
OQ] .
— - I
Q.
a &
g
3 9E
no- <Ll
=3y B3
i =1a8
it IR
Swzlal O
‘.gc‘ﬁ%got
GUJZ|%—IZ
D =2
3|18 S| &
x O%
a. o
)—
gm
=
IS
=
Mg
3 |
g @
Q|
O =
S
P
&<
o\ Ta)
o
Z

CONSULTANTS, INC
813.684.3831

Approved 28 complying with ke
Florids Buiding Code cool
Date vt 10

NOAE ¢l

§ %2 E L0 E
Miami Dade Prodgiet Control
Diviston
By

oaTe: 08,/08,/01

sl N.T.S.

OWG, 8Y: TJH

CHK. BY: RW

ORAWING NO.:
S-2148

sieer 8 oF 8




